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Boot Camp: Solids: Take Home and Check

TierB

following figure.

identify the solid:

) I)Fl_nd thé-'s';urfacg;:r?é;akﬁd-;llls-lume of the @

(4 x2) 22 = (o bm”
(4x3) + 2= bem®
5 x5 = F5em”

5 x5 = #5cm’
= 60 CM

’221 cm”i

1=
1 = 15 xH

.VE'_"L’E.{ = Area of base x h

Pase = A= (Hx3)2= b em)
H=1B5cm

o x IS =l‘i0cm?”l




N

a) Reet F(jmmid,
b) Cube

¢) Triangular Fljramid
A) Ree prism

b) ¢) Trimguvfd"’ Prt'sm

o) Pm.mgonal Ptjramio(

3) sfpherf,

A cont

1) chli’ndef‘

2) How many faces, edges, and vertices || Laces=
does a rectangular prism have? edse,s = 12

1l Vertices = 9 o




” .3)”’ Fihd the Sﬁrfacé area and volume of |
the following figure.

|dentify the solid:

x‘bq’*

3) Ke ¢+a,n.3 wlar p rtsm

Sh= A(18 x19) + 2 (192 2%)*
A(I8x2%) =

= 2(342) + 2 (613 A (450)

= 6§ + 1026 + 972

SH = [Abg APt

i

Ve £ & we i
Cap)(19) (18) = (32 34 £43
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4) Find the surface areaand volume of the || . .~

following figure.

|dentify the solid:

S

Hem.

W) Triangular Prism

ShH =
pases =
A = (Hdxu)=

J#2 cm”
V= oma o base x h

Base A = (H4xt)+2= §FemT
H = l2zaem

X I12= ﬁbcmi}




5} Michelle put her sister’s birthday present in
a box with a length of 13 mm, a width of
4mm), and a height of 8 mm. How much
square millimeters of wrapping paper will
Michelle need to completely cover the box,

If the wrapping paper costs 2 cents per
mm?, how much will it cost Michelle to
wrap her sister’s present?

spz (1% xH)

5) Find SA :
+ a(Bxs) 4 2(4x8)

2 (52) + a (104) + 2.(32)
= jod + 20% + 4

= 3Fl mm?*

W

316 ¥ .O2L=

A swimming pool is 8 m long, 6 m wide, and
1.5 meters deep. The water - resistant paint
needed for the pool costs $6 per square
meter,

. ;
a) How much will it cost to paint the interior
surfaces of the pool?

b} How many liters of water will be needed to
fill it?

- )

ccrcom ey

-5

6
g

a)

SA » Interior

alsx1.5)4 Allx!l.5)+ (& xt)

2 y2) 4 2(9) + 48 5
a4 + I8 + 4§ = 90 m

G0 x . @ 1_5‘40:]

prtinf. Surfaces

By V= b x §x [.5= F2m°

o
P




7) Draw a cross rzrsection of .thi.s pyramtd when 1t o . | + .‘ )
Is cut by the planes described below. Then tell a) PG«VP endicalar =Tri &nglé

what shape is produced, b) P&V"ﬂv“e'( = gcbmre,_
a) Perpendicular to its base
b) Parallel to its base 6.
(

Syuare
Buase

Square
Base

8) Draw a cross section of thls c”yli.ndé.r whemtls - - o
cut perpendicular and parallel to the base. 0) PCVPWC(LIM:

Teil what sha_pcs/_“\ rect”
QArve. Pr‘odaced' e ] b) Fa.ra!ld“; e

eicele ~—1—

..........
. -
A *a




9) Drawa cross section of this prism when it is
cut parallel to the base. Draw the cross
section,

10) The tent shown has fabric covering all four
sides and the floor. What is the minimum
amount of fabric needed to construct the
tent?




7 11) Fincf .t.!{é.surface area of the flgurebelow

|dentify the solid:

1) Triangulor Pyramict
,, oh (©)(5:2)
Pase = A\ =
3.2

e

o R
15.6 £+

Faces = & bh ()(5.2)
>

192 auf*
9

3 of +Hhem= 3(24.6)
F3.%

5.6 +73.§ = [8‘7 ot £




